

PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To: **Bach Oil Production** 82 W. 500 Ln. Phillipsburg, KS 67661

INVOICE

Invoice Number: 146083

Invoice Date: Sep 29, 2014 1

Page:

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket#	Paymen	t Terms	
Bach	55331	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS2-01	Russell	Sep 29, 2014	10/29/14	

Quantity	Item	Description Description	Unit Price	Amount -
1.00	WELL NAME	Dorothy #1	47.00	
175.00	CEMENT MATERIALS	Class A Common	17.90	3,132.50
330.00	CEMENT MATERIALS	Gel	0.50	165.00
495.00	CEMENT MATERIALS	Chloride	1.10	544.50
175.00	CEMENT SERVICE	Cubic Feet Charge	2.48	434.00
412.50	CEMENT SERVICE	Ton Mileage Charge	2.75	1,134.38
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
50.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	220.00
50.00	CEMENT SERVICE	Heavy Vehicle Mileage	7.70	385.00
1.00	CEMENT SUPERVISOR	Robert Yakubovich		
1.00				
1.00	OPERATOR ASSISTANT	Jonathan Price		
1.00	SI 210 (1 SI () (SI () () () () () ()	Condition Trice		
				7
L		Subtotal		7 527 63

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

1,806.63

ONLY IF PAID ON OR BEFORE Oct 29, 2014

Subtotal		7,527.63
Sales Tax		255.49
Total Invoice Amount		7,783.12
Payment/Credit Applied		
TOTAL		7,783.12

ALLIED OIL & GAS SERVICES, LLC 055531 Federal Tax 1.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 6766	5		SERV	VICE POINT: Russe 1	1 KS
DATE 9.29-14 SEC TWP.	RANGE 19	CALLEDOUT	ON LOCATION	JOB START 830 / LL COUNTY	JOB FINISH TOOP
LEASE DOTO Thy WELL#	LOCATION Ph.	11. proces KS	8N8kW	Ph: Ilips	KU
OLD OR NEW (Circle one)	5,-10	/			
CONTRACTOR Marfin 24 TYPE OF JOB SANFACE		OWNER			
HOLE SIZE 12 1/4 T.D.	220	CEMENT			25 /
	TH 22.6	AMOUNT O	RDERED <u>/75</u>	com 370	cc 6 20 90/
TUBING SIZE DEP DRILL PIPE DEP					
DRILL PIPE DEP			;		
	IMUM	COMMON_	175	_@ <i>17.90</i>	3135.20
	EJOINT 15	POZMIX _	77 25	_@	1/5 03
CEMENT LEFT IN CSG. 15		GEL	330 995	@ ,50 @ <i>[,[0</i>	165.00 544.50
PERFS. DISPLACEMENT	13	CHLORIDE ASC	_ 7/3	@ <u>/, ///</u> @	377.30
	3.2	ASC			
EQUIPMENT	•			@	
PUMPTRUCK CEMENTER Robs	46 8		Material	- @ /////	3842,00
# 409 HELPER North			Mise	@ <u>422.0 </u>	<u>r</u>
BULK TRUCK		·····		@	
# 378 DRIVER Jon 1-)		- 30		
BULK TRUCK				@	7757
# DRIVER		HANDLING	i <u>175</u>	_@ <u>Z-98</u>	<u>434.00</u>
		MILEAGE	12,5	21/0	1134.38
REMARKS:		H	1213	TOTAI	L 5#10-38
			SERV	ICE	
Sce log			SERV)CE	
300 109		DEPTH OF	JOB	22	0
			CK CHARGE	1512.	<u> 25</u>
		EXTRA FO	OTAGE	_@	220.00
Coment did circulate	to p-1		50 LV1I	@ <i>3.40</i> 	_ 220.00
Thank you	111	— MANIFOLI	UMI	_ @ 7.70	785.60
1 4426 900					
CHARGE TO: Back Oil Pro	Suction		· an I		3685,63
			ise 884.5.	TOTA	L § 2 H 7 3 5
STREET	•.				
CITYSTATE	ZIP		PLUG & FLOA	T EQUIPME	NT
	•			<u>~</u>	
			-1-/-	//@	
To: Allied Oil & Gas Services, LLC.			10/1	Z_@	
You are hereby requested to rent cen	nenting equipme	nt —		@	
and furnish cementer and helper(s) (o assist owner or	· · · · · · · · · · · · · · · · · · ·			
contractor to do work as is listed. The	he above work w	as .		TOTA	L
done to satisfaction and supervision	of owner agent of	Of A T			
contractor. I have read and understa TERMS AND CONDITIONS" listed	ng the "GENEK	AL SALES TA	X (If Any)		
LEKINZ VIAD COMPLIENCE INSERT	I OII lile levelse :	TOTAL CH	ARGES 7527	7.63	
M. A.	na -!	PIGOTIE	1806.63	(2470)	AID IN 30 DAYS
PRINTED NAME MITTORY	"IWITIA	DISCOUN	1 1 00 4 1150	to 17	, THE THE PARTY
m L Mi		- net .	5721.00		,
SIGNATURE / JIMBA // ()	W	——			
, , , , , , , , , , , , , , , , , , ,					
·					
A A North and Ref. Street and Street Street of Street and Stree				•	•



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Bach Oil Production 82 W. 500 Ln. Phillipsburg, KS 67661

INVOICE

Invoice Number: 146141

1

Invoice Date: Oct 4, 2014

Page:

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket#	Paymen	t Terms
Bach	55335	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS2-03	Russell	Oct 4, 2014	11/3/14

Quantity	ltem .	Description	Unit Price	Amount
1.00	WELL NAME	Dorothy #1	**************************************	1945 TO SECTION HIS IMPROVED SAME HOLD
255.00	CEMENT MATERIALS	60/40/4% Gel Blend	18.92	4,824.60
57.00	CEMENT MATERIALS	Flo Seal	2.97	169.29
255.00	CEMENT SERVICE	Cubic Feet Charge	2.48	632.40
569.92	CEMENT SERVICE	Ton Mileage Charge	2.75	1,567.28
1.00	CEMENT SERVICE	Plug to Abandon	1,525.75	1,525.75
50.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	220.00
100.00	CEMENT SERVICE	Heavy Vehicle Mileage	7.70	770.00
1.00	EQUIPMENT SALES	8-5/8 Wooden Plug	110.00	110.00
1.00	CEMENT SUPERVISOR	Robert Yakubovich		
1.00	EQUIPMENT OPERATOR	Nathan Donner		
1.00	OPERATOR ASSISTANT	Tyler Wellbrock		
	مورشيد مسين السمال المستعدد المادان المستعدد			
			* .	
		Cultinated		0.040.00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 2,454.83

ONLY IF PAID ON OR BEFORE
Nov 3, 2014

Subtotal	9,819.32
Sales Tax	652.98
Total Invoice Amount	10,472.30
Payment/Credit Applied	
TOTAL	10,472.30

ALLIED OIL & GAS SERVICES, LLC 055535 Federal Tax I.D.# 20-5975804

				SERVICE POINT:		
RUSSELL, KANSAS 6766	5			Kussell	()()	
DATE 10-4-14 SEC. TWP. 2	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH_	
DATE 10-4-14 9 2	19			COUNTY	STATE	
LEASE Dorthy WELL#	LOCATION Ph. 1/.	pshera KS 8	N 91/2	Phillips	KS	
OLD OR NEW (Circle one)	Sinto	.		1		
CONTRACTOR A C: 24	, <u>, , , , , , , , , , , , , , , , , , </u>	ONNER		_		
CONTRACTOR Mars: 24 TYPE OF JOB PTA		OWNER	:			
HOLE SIZE 7 % T.D.	3620	CEMENT		601 00	11 101	
CASING SIZE DEF	TH	AMOUNT O	RDERED 255	140 470	ge 1/14/0	
TUBING SIZE DEF						
DRILL PIPE 4//2 16.6 DEP					·	
TOOL DEF PRES. MAX MIN	IIMUM	COMMON		@		
	E JOINT	POZMIX				
CEMENT LEFT IN CSG.	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	GEL _				
PERFS.		CHLORIDE		_@		
DISPLACEMENT		ASC TIE	1 3 56	@	11001110	
· EQUIPMENT		- 6/40 478	1961 255 574	_@ <u>18.92</u> 	<u>4824.60</u> 169.29	
		410.5241		_@ <u>2. / /</u> 		
PUMPTRUCK CEMENTER Lake			Material	@	4993.89	
# 409 HELPER Noth	$g_H D$		//	@		
BULK TRUCK # 48/ DRIVER Tyles	. 1.)		dere	@ 1248.4	Z	
BULK TRUCK	- w					
# DRIVER		— HANDLING	255 sks	_@Z.48	632.40	
		MILEAGE S	569.925 4/1		1567.29	
REMARKS:			'		7 193.58	
01 50 st @ 1845			SERV	ICE		
p2 100 st @ 1305				1045		
13 50 st P 270		DEPTH OF J		1845	1525.75	
1 10 st @ 40 24 30 sk		PUMP TRUC EXTRA FOO	CK CHARGE	@	1983,15	
MH 15 s.k.			OLVAI	@ <u>4.40</u>	220.00	
		MANIFOLD		@		
Thank you	a!:	100	HUMI	_@ <u>7.70</u>	770.00	
•	•			@	10111	
CHARGE TO: Back Oil				<i>(</i>) <i>(</i>	4715.44	
STREET		LI	w 1178. E	r6 tota	L <i>\$5/5,75</i>	
STREET						
CITYSTATE	ZIP		PLUG & FLOA	T-EQUIPME	NT	
		878 Wo	de plag	@ <i>[[0.00</i>	110.00	
			, 0			
To: Allied Oil & Gas Services, LLC	•			@ @		
You are hereby requested to rent cer		nt —				
and furnish cementer and helper(s) t	o assist owner or					
contractor to do work as is listed. T		as Lles	J 27.50	TOTA	L //0.00	
done to satisfaction and supervision	of owner agent o	r . T		1011		
contractor. I have read and understa TERMS AND CONDITIONS" liste	ing the GENERA	AL SALES TAX	(If Any)			
TEKNIS AND CONDITIONS TISSE	u on the teverse s	TOTAL CH	.00	19.33		
1 -d - N	Jac Th	- IOINE CII	2454.8	3 (25%	AID IN 30 DAYS	
PRINTED NAME <u>AnThony</u> M	101111			<u>~</u>	AN IN MAIN	
SIGNATURE Anthony 1	105/		let 7364	4,50		
SIGNATURE / WALKERY 10 (ww.		3 ,			
V						